MATH 260 - QUIZ #1 Name: !467

Directions: Please show all work for maximum credit. This quiz is worth 16 points. Good
luck!

(6 points) 1. Solve the following system of equations by using Gaussian elimination.

4x, —3x, +6x; =2
x —3x,+6x;=35

-2x,+3x, —8x; =—6
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(2 points) 2. Given the following augmented matrix: |0 1 2|2
0 0 010

Determine the solution to the corresponding system. If the system has an infinite number of
solutions, write the solution parametrically.

X, +2¥y Y3 =3
Yo 42 Y3 > Ly =)=1 &
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3. Determine if the following matrices are in row-echelon form, reduced row-echelon form, or
neither.
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(1 point) a. |0

(1 point) b. |0 1 4 MNetfur
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(1 point) ¢. |0 0 1

5 s ; 5 -1 3 7 -2 6 -1 -7
4. Given the following matrices: 4= , B=
2 8 -4 -2 3 0 4 9

Determine the following:

(2 points) a. A+B g 5 .2 O
[ % o 7

(2 points) b. 34 ¢ -3 9 2
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(2 points) c. A—B 7 = 7 Y )Y
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